Economics: The Basics, 2e

Study Guide: Chapter 14

Learning Objectives

LO14-1 Explain why global trade has increased so much in recent years.

LO14-2 Summarize the main gains to trade.

LO14-3 Compare and contrast absolute advantage and comparative advantage.

LO14-4 Discuss the winners and losers from trade and analyze the arguments for protectionism.

LO14-5 Describe what it means fore a currency to appreciate or depreciate.

LO14-6 List explanations for why the United States consistently runs a trade deficit.

Outline

· The Nature of International Trade
· Natural barriers to trade have been decreasing over time (these include distance, differences in culture and values, and the difficulty of delivering services remotely).

· Advancements in transportation, shipping, and communication have reduced the cost of trade.

· Legal barriers to trade have also declined over time, as countries have reduced their tariffs and quotas on imported goods.

· The effect of a tariff is the same as the effect of a tax.
· The Gains From Trade (gains from trade must be large enough to justify the expense):
· Lower prices of goods and services

· Access to natural resources that are too expensive to domestically produce or are not available domestically

· Access to bigger global markets

· Access to new ideas
· Comparative Advantage vs. Absolute Advantage
· Absolute advantage is when a country uses fewer resources to produce a good than other countries (i.e. who can produce the most).
· Comparative advantage is when a country specializes in the products or services where they have the biggest productivity advantage or smallest productivity disadvantage (i.e. who is most efficient).
· Winners and Losers of Trade
· The gains from trade are broadly distributed throughout society.

· Between 1996 and 2006, 5.6 million jobs were created, while only 3 million jobs were lost from trade (NET BENEFIT of 2.6 million jobs).

· Not ALL individuals benefit from globalization. Even if a displaced worker ends up with a better job, they have to incur the cost of retooling.
· Globalization benefits those whose skills are relatively scarce, and hurts those whose skills are common.
· Arguments for Protectionism: economists believe (and data supports) that international trade is beneficial to an economy; nonetheless, non-economists argue for protectionism. Common rationales include:
· Trade is disruptive
· Infant Industry
· Unfair Competition
· National Security
· Exchange Rates: the rate at which one currency can be turned into another.
· They can be floating (set in the foreign currency markets) or pegged (fixed) to another currency.
· When a currency depreciates, imports become more expensive and exports become cheaper.
· When a currency appreciates, imports become cheaper and exports become more expensive.
· Trade Balance and Trade Deficit

· Trade balance is the difference between exports and imports.
· Trade deficit occurs when imports > exports.
· The U.S. runs a trade deficit for three possible reasons: 
· “It’s Our Fault”
· U.S. consumers borrow too much.
· U.S. government borrows too much.
· U.S. manufactures can’t compete.
· “It’s Their Fault”
· Protectionist policies by foreign nations restrict imports from the U.S.
· “It’s No One’s Fault”
· The U.S. is a successful rich economy, able to afford imports.
· The U.S. is a successful rich economy making it a magnet for lending from other countries.
Common Myths & Common Problems

· Aren’t economists evenly split over the trade and protectionism?

· No. The vast majority of economists argue for trade and NOT for protectionism. In fact, the evidence supports the economists’ position that international trade is beneficial to an economy. Many people who are for protectionism are not economists.
· Isn’t outsourcing and globalization bad because of all the jobs we lost?

· When it comes to outsourcing, people focus on the visible and ignore the invisible. People focus on the number of jobs lost, but are blind to the number of jobs created. When consumers purchase lower-cost imported goods, they spend the net savings on other goods and services. That increases the demand for those industries and spurs job creation in other sectors. Between 1996 and 2006, 3 million manufacturing jobs were lost, but 5.6 million jobs were created. This “freed up 3 million workers for gainful work in other parts of the economy.”
· This isn’t to say that there is discomfort on the displaced labor; sometimes the transition costs are large in the short-run. However, the displacement is “part of the key mechanism by which trade raises overall living standards.”

· Shouldn’t we protect infant industries so we can be self-sufficient?
· This is a common argument used to justify protectionism. While it sounds good, in practice it rarely works. Without competition, there is no incentive for the infant industry to improve, innovate, and become efficient. It merely means domestic consumers will pay more for the same good than they would otherwise.

· A good example of this is the Hindustan Ambassador. Hindustan Motors was an infant industry that was protected for quite some time in India. Google the newest model of the Hindustan Ambassador. What century does this car look like it came from? How innovative does this car look?

Real World Applications from an Economist’s Perspective

Been to a movie lately? The movie industry is affected by globalization and the policies associated with it. We will examine the effects of protectionism on the movie industry and the ability to successfully export movies in the global market.

Economist Tyler Cowen, in his book Creative Destruction: How Globalization is Changing the World’s Cultures, discusses the negative effects of protectionism on the global movie industry. Cowen discusses how France has many protectionist measures in place to defend its movie industry. However, these protectionist policies have weakened, not strengthened, that industry.

In a competitive global market, movies must not only appeal to domestic audiences, but also have some appeal to foreign audiences. The protectionism and regulation of the French movie industry has not only increased the cost of making a movie in France, but has also led French moviemakers to narrow their audience. Instead of trying to create a movie with broad appeal, only “French” movies are made, highlighting French culture. The problem is that this market is shrinking. Since the French movie industry is subsidized by the government, the motivation to create broader appealing movies to increase profit is non-existent, as is motivation to use themes in movies with broad appeal.

The French movie industry may end up like Hindustan Motors and produce consumer goods that are obsolete or that many people may no longer want.

Inversely, competition in the global movie market means the movies that will do the best overseas will be ones that hit broad general human themes, and not the idiosyncratic particulars of one culture. This is why some hit British TV shows do not perform well in the U.S. and others do quite well. For example, Coupling (the American remake) and Monty Python’s Flying Circus did not appeal to most Americans, given that British humor is drier than American humor. However, American remakes of Weakest Link, What Not to Wear, and The Office have all done well. 

Now it’s Your Turn
1.  The movie Wall(E has very little dialog. The movie deals with a lonely robot 700 years in the future, Wall(E, who is left to clean up a now-abandoned Earth. While working one day, Wall(E meets another robot, EVE, and falls in love. One story arc in the movie deals with the love story between Wall(E and EVE and another story arc deals with the environmental impact mankind may have on Earth. Should we expect Wall(E to perform well in the global movie market? Why or why not?
2.  For an exceptional discussion on the effects of globalization, visit: http://www.pbs.org/wgbh/commandingheights/hi/story/ch_menu_03.html. If you wish to watch the whole video instead of the individual chapters, visit: http://www.pbs.org/wgbh/commandingheights/hi/story/ch_f03_01.html/.

3.  If the dollar depreciates relative to the Japanese yen, what should we expect to see happen to imports of Japanese goods, and what should we expect to see happen to the exports of American goods to Japan?

Practice Quiz

1. Which of the following is not a natural barrier to trade?

a. Distance

b. Delivery problems

c. Culture and language

d. Legal barriers

2. A tariff is:

a. A quantity limit of imported goods.

b. A subsidy on imported goods.

c. A tax on imported goods.

d. A law prohibiting imported goods.

3. The General Agreement on Tariffs and Trade (GATT):

a. Was created in 1948.

b. Was converted into the World Trade Organization (WTO).

c. Was abolished.

d. Still exists with 150 members.

Use the following graph to answer questions 4-6.
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4. The amount of the tariff is represented by:

a. The distance between C and D.

b. The distance between A and E.

c. The distance between B and E.

d. The distance between A and D.

5. The level of imports with this quota is represented by point:

a. A.

b. B.

c. C.

d. D.

6. The price received by importers is represented by point:

a. E.

b. D.

c. B.

d. A.

Use the following table to answer question 7 and 8.

	
	Peter
	Brian

	Making Toys
	2 toys per hour
	5 toys per hour

	Selling back scratchers
	3 scratchers per hour
	10 scratchers per hour


7. Who has an absolute advantage in selling back scratchers?

a. Peter

b. Brian

c. They both do

d. Neither

8. Who has a comparative advantage in making toys?

a. Peter

b. Brian

c. They both do

d. Neither

9. Which of the following is NOT a benefit (gain) from trade?

a. Lower prices

b. Access to natural resources

c. Access to new ideas

d. Protection of infant industries
10. Which is NOT a reason for the U.S. trade deficit?
a. Over-consumption by the U.S.
b. Other nations keeping U.S. goods out of their markets
c. U.S. consumers buying domestic products
d. The strength of the U.S. economy

Answer Key

1.  D

2.  C

3.  B

4.  C

5.  C

6.  A

7.  B

8.  A

9.  D

10.  C

